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Ctata_enaro formiila nf 2 evetam
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Let Yy=P(S)-u with P(s)= ) shown below
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Note that P(s)i{c DW denotes a system instead of a matrix here, since you can’t

— ' —

sIA|B|IA|B . : .
calculate G(s)= H(S)PZ(S){C % Dl}{c % DZ} as a general matrix manipulation.
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system matrix
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<Stata-enace formiila for invercion of a syvcstem>
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Let y=P(S)-U with P(s)= 3
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Question : How to find P~'(s)
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<Traditional approach>
by
(A+AAA) =AT-ATA(A-ATA+AT)ACAT
and
%:P(s):D+C-(sI—A)‘1-B

one has

—P*'=[D+C-(sl -A)*-B]*
=D*'-D*'-C-[B-D*-C+(sl -AT*
=D*'-(D'C)-[s| -(A-BD'C)]*-(BD™)
- D +C|nv (SI - Ainv)_1 ’ BI

v 2| Aw | Bw]_[A-BDC | BD*
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